1.

R#ETAL RE (BEK) =T EBE 02

Y'—Fh— A BREREELMUBOERKICKEZDEEZHNTRD L.
(SHas®d, A15340%, B¥3 4, C#’559 )
0 P—F—A 3% 200g ) P—h—A 4% 110g
P—#h—DB 9% 300g v—h—B B 10g
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2.

V'—H— At BZEIEREOMUWDEKIZKEZ0EEZFHNTRD XK.
(SHe55F), Afk245, BH3 7308, C #6453 )
1 P—Z—A 2% 300g ) P—h—A 2% 190g
P—#h—DB 9% 200g v—h—B BIE 6g
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RETRAE RE (BIEK) R BB 02 BSESH

Y—H— AY BERREEEOMWOBEKICKEZDEZHOVTRD k.
(SH AR, A1 408, B34, CH#&5457)

*EE (CT) OE = O=X
* S x BiEK = RIE

* B31% 100 % D BHEK.
L—#H—A 3% 200¢g P—h—A 4% 110g
(D . ©)) .
v—Ah—B 9% 300g v—Ah—B B 10g
A B |[{BEZvOD A B || IBEZbD
#HE ] 0.03 | 0.09 % HE 1004 |1 v
AR | 200g | 300g Tg BEK | 110g | 1 g Tg
Bif | 7g| 1¢g *g Bii | 7g|10g A g
71X 0.03x200g=6¢g 713 004 x110g=4.4g
A% 0.09x300g=27g 4 BEK=8E+/KE»5 10g
TiX 200g+300g=500g TiX 110g+10g=120g
FliE 6g+27g=33g Fix 44g+10g=144¢g
A B |E¥-3D A B |IBE:=3dD
4| 0.03 | 0.09 % HE 1004 |1 v
AEIK [ 200g | 300g 500 g BIEK | 110g | 10g 120¢g
Bifi | 6g | 27g 33g A | 44g| 10g 14.4¢
koT, 7 33500 =0.066 XoT, 7id 14.4+120=0.12
= 0.066 x 100 = 6.6 % = 0.12x100=12%
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P—#h— AY BREELEOMWOEBIEKICKEZ1ERZHWTRD L.
(SHes5%, Afk24r, B33 30%, CH#649 )

P—Z—A 2% 300g P—Fh—A 2% 190¢g
(1) A (2) R
P—#h—DB 9% 200g v—h—B BIE 6g
A B ||[IBE¥/=dD A B |EE/R=3dv0D

#HE 1 0.02 | 0.09 v HE 1002 1 %
Ak [300g | 200g Tg BIEK|[190g | 1 ¢ Ig
Bif | 7g| 1¢g *g B | 7g | 6g A g
7iE 0.02x300g==6g¢g 7 0.02x190g=38¢g

A% 0.09 x200g = 18¢g
i 300g+200g=500g
Fix 6g+18g=24g¢g
A B |{E¥-Z3D
A1 0.02 | 0.09 v
AR | 300g | 200g 500 g
Bifi | 6g | 18¢g 24 ¢

XoT, vid 24-+500=0.048
0.048 x 100 = 4.8 %

=
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4 BHK=8E+KEPD

TiE 190g+6g=19g
Fix 38g+6g=98¢g
A | B |{BREZL®HD
HE 10021 v
AEK|[190g | 6¢g 196 ¢
i | 38g|6g 98¢g

XoT, V¥ 9.8+196=0.05
0.05 x 100 = 5 %

=
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